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700 x 700 325
700 x 750 330
700 x 800 365
700 x 900 400
700 x 1000 435
750 x 750 365
750 x 800 365
750 x 900 400
750 x 1000 435
800 x 800 400
800 x 900 435
800 x 1000 465
900 x 900 470

A Min= 700 - 7 = 693
A Méx= 700 + 8 = 708

A Min=900 - 7 = 893
A Méx= 900 + 8 = 908

22 A B
A=650,651..679 |t AT LRSS
A=680,681...720 |t AT LA
A=730,731...779 |y AT LA
A= 780,781...829 |\I\/|A£< :;2 2 - jgg
A= 830,831...879 |\I\/|A£< :;2 2 - j;g
A= 880,881...929 |\I\/|A£< :;2 2 - 232
A= 930,931...979 |\I\/|A£< :;2 2 - 2?8

A=980,981...1020 [l Al AT 35
A=1030,1081...1079 [ZEL A= L L A= 51D
A=1080,1081...1129 [P A= L L A~ B3
A=1130,1131..1179 IO AT L A2 625
A= 1180,1181...1400 [ A0 AT L A2 65
Ejemplo / Example:

AXA=700x 900 C=400

B Min.= 700 - 400 = 300
B Méax.= 700- 385 = 398

B Min.= 900 - 500 = 400
B Méx.= 900- 485 = 415
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